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[1 n=1, the equation should be the following one {[n 1*10(-5)]"2 *
[n-1*107(-5)]72} - {[n 2*10™(-5)][n-2*10™N(-5) 32 =[n2 -

107N (-10)]72 - [n2 - 4*107M(-10)] 2= 3*10™(-10)[2-57(-10)]
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[ jerryld O O O 50mph 20 150 TomO O O O O O O O jerryd
OO0O00000 myansd20180 00002018 Tom’ s
speed is 10mph more than jenny’ s, and that also mean that Tom

' sspeed per minute is 1/6 mile more than jenny’ s. Because the
walk miles of Tom will (1/6) *15 =2.5 miles more than jenny’ sin
15 minutes and the extra time jenny spend to reach the exit is 2.5/
(5/6) = 3 minutes, the result is 15 3=18 minutes . 3. DS 0 0 [ [
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DO0000000000000 According condition (1) get the
equation: [B(blue one)/ B R (red one)]=1/5 According condition
(2) get the equation: [(B-1)/ (B-1)R]=1/30 00000000 O
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